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(2) AFEBHANTH, RkF AR MRKEREERRE
T, SRARAS SUE AT TR AF= 5 B R RS & BT

(3) HHEBHIMTE, R A8 ZEREFIEZ 23 %
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(1) HRIRAM mm BB = A7 58 A X (14 223K
AR Z) / (I—@EHBI%E) = (199.5+684000/12000)
X (1420%) / (1—5%) =324 (J5)

B B X12000X (1—5%) — (199.5X 12000+
6840000 = (199.5X12000+684000) X 20%,

E AR =324 (Jo)
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(2) HRINA N RIGHE R = (BB HA+
BALEE A / (I—&EHBE) = (199. 5+684000/12000)
/ (1—5%) =270 (JG)

B B X12000X (1—5%) — (199.5X 12000+
684000) =0,

TR B =270 (o)
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(3) RIS B B

= AR EA X (1+ZRPISAFER) / (1—&H
i) =199.5X (1+425%) / (1—5%) =262.5 (J©)

B B X (1—5%) —199.5=199.5X25%, &I
BHEH=262.5 (Jo)
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B BUMT BB A 29070 & T RIS i B4 262. 570
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(3) 20125EGA R U= Hr = dn, TGN 450075 7T,
PTH B a5 5 3 M S AL AT A E60 5o, Mt EE
X (AERETEHR) W HER—, LLI0%HFF] 2 T4k
T HEZ, R0 K@k, tHERAE
T ER BRI E TS E A AR SRR RNE, FFAIBGA B Nix
KHBANERTE.

(4) RKBAEBN A 47T, TNEEEEN830 514,

X FH T S BB R 5%,  NARIE20124E1660 /5 761 B AxFiE ,
P R E NN A2 D
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BEX:

(1) BREIAIE=8000X (1—70%) —800=1600 (JiJt)

FARIE = (1600—240) X (1—25%) =1020 (J570)

R 2 =1020/300=3. 4 (JT)

(2) WERBEAHA=RE+ B X (Rm—Rf) =6%+0.5X
(19. 5%—6%) =12. 75%

B AT {E =1020/12. 75%=8000 (J370)

i MEAE =8000+2400=10400 (J375)

SE B A A =10% X 2400/10400 X (1—25%) +
12. 75%X 8000/10400=11. 54%
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(3) THEERIWEE L ZER ST RSB ETRE

RATRE G IF] B S8 =240+500X 10%=290 (J37T)

18 9% X 38 % I X A B =3004-500/10=350 (J3fi)

(EBIT—290) X (1—25%) /300= (EBIT—240) X (1—25%)
/ (300+50)

(EBIT—290) /300= (EBIT—240) /350

350X (EBIT—290) =300X (EBIT—240)

(350—300) XEBIT= (—300X 240+ 350%290)

EBIT= (—300X240+350%X290) /50=590 (JiJG)

T B LRI AlE =16004+60=1660 (Fi7t) >590 (FFJL) ,
P AN i B R AT i RIE R T, BT R —.
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(4) BAPESEmis = (1660+830X4+800) /[830X (1
—5%) 1=7.33 (75)
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